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(=) 53 - M3 A5 996 kg/m® # B2 ¥ % 0.003 kg/sec » ks £ & 5 50
cmz Lwmg 24 48atmz R4 £ ¢ ol wmyg 2 455 0.14mm > 53t N
8 %k & (Pa*sec) o [:x771 = 3.14159 ] [10 4 ]
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(-)F-m& s d pTFTAEBrEd s ¢ oo 100CH 4 FAE Bz & ick
F B4 w5 1000 mmHg &2 500 mmHg » R & A AT ARG IZE K AL Bk

3 750 mmHg %2 100C T F -r L - A 3SR & ¢ i B 4 % (mole
fraction) 2 4p ¥+H42% R (relative volatility) 2 = ? [10 4 ]
(=) 2% - 60%:H1A % 40%: B iR4eid i o it 1 atm = P4 s e Ak 4y 0 2
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(=) F-im#8 (%A 5 996 kg/m®» L& 5 10 cp) - FF ¢ md BT 5
2.12mhr > {E 2 f iS5 0.05m o g H i s 2 [10 4 )
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(Z) 53-8 (AR5 168 cp) &
06cm: T IT4#2Ha F THP1L 12 cm/sec # & »
J& 4 (shear stress, 1) % & & 1 & (velocity gradient) - [8 4 ]
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